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QUESTION 1

An administrator of a vSAN 6.5 environment is planning a path to move to unicast for the vSAN network. How will the
administrator achieve this?

A. Enable LACP on vSAN switch ports.

B. Upgrade vCenter and vSAN nodes to vSAN 6.6 or later.
C. Enable unicast on the vSAN interfaces.

D. Disable multicast for vSAN using ESXCLI commands.

Correct Answer: B

QUESTION 2

An architect is asked to design a VSAN cluster with these requirements: -Supports erasure coding storage policy
-Minimized inaccessibility from single device failures -Ability to re-protect data after a failure The desired configuration
should be able to survive a single failure.

Which configuration satisfies the design requirements?

A. 3-node hybrid vSAN cluster

B. 4-node hybrid vSAN cluster

C. 4-node all-flash vSAN cluster

D. 5-node all-flash vSAN cluster

Correct Answer: C

QUESTION 3

What is the maximum number of failures an object can tolerate with RAID-67?
A 2

B.3

C. 4

D.6

Correct Answer: A

Reference: https://vsan-essentials.gitbooks.io/vsan-6-2/content/chapter6.html
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QUESTION 4

An administrator is implementing deduplication and compression on a vSAN all-flash cluster.

-There are 4 nodes in the vVSAN cluster.

-Existing VMs use a RAID-5 storage policy

How can deduplication and compression be enabled while permitting the VMs to remain operational?
A. Enable vSAN datastore encryption.

B. Use explicit fault domains.

C. Use the Allow Reduced Redundancy option.

D. Enable TRIM/UNMAP.

Correct Answer: A

QUESTION 5

In stretched clusters, what is a benefit of implementing a virtual witness rather than a physical witness?
A. Reduced vSphere licensing

B. Shared metadata between separate clusters

C. Increased vSAN datastore capacity

D. Increased compute for running VMs

Correct Answer: A

Reference: https://cormachogan.com/2015/09/11/a-closer-look-at-the-vsan-witness-appliance/
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